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BACHELOR OF EDUCATION 

ES-361 

 

Term-End Examination 
O 

December, 2014 

O 	ES-361 : EDUCATIONAL TECHNOLOGY 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All four questions are compulsory. 

(ii) All questions carry equal weightage. 

Attempt question no. 1 and 2 in about 600 words 
each. 

1. What do you understand by educational 
software ? Explain the four elements of software 
development. 

OR 

Describe the principles of 'software development' 
and explain the steps involved in software 
development for video programmes. 

2. Discuss the various ways of using Computer 
assisted instruction for individualised instruction. 

OR 

What are the various categories of learning 
styles ? What mistakes we normally make while 
analysing learning styles ? 
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3. Write notes on any four of the following in about 
150 words each : 

(a) Technology in Education 

(b) School as a Learning Resource Centre (LRC) 

(c) Open Schooling 

(d) Method of Effective Utilization of 
Chalkboard 

(e) Interactive Broadcasting 

(f) 'Rodent Response Metaphors' approach to 
Interactive Software 

4. 	Attempt the following question in about 
600 words. 

Why is it important to develop thinking skills in 
learners ? What methods did you adopt to develop 
thinking skills for 'Science' or Social Science' in 
your children ? Write a report on the effect of 
these methods on the thinking skills of these 
children. 
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